
b1 := 1, 0, 1[ ]

b2 := 0, 1, 0[ ]

θ := 0.1960

a := 1, 0, -1[ ]

n := 1, 1, 1[ ]

R := x, y, z[ ]

u := x + y + z

k := 0

x + y + z = 0



a := 1, 0, -1

b := 4, 2, 1

ba := 3, 2, 2[ ]

v := 3, 2, 2[ ]

l := 1 + 3 t, 2 t, -1 + 2 t[ ]

a := 0, 0, 0[ ]

b := 1, 1, 1[ ]

c := 1, 2, 3[ ]

ba := 1, 1, 1[ ]

bc := 0, -1, -2[ ]

n := -1, 2, -1[ ]

R := x, y, z[ ]

u := -x + 2 y - z

k := 0

-x + 2 y - z = 0
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r := t → 2 cos t( ), 2 sin t( ), t[ ]

rt := t → -2 sin t( ), 2 cos t( ), 1[ ]

rtt := t → -2 cos t( ), -2 sin t( ), 0[ ]

vt := t → 4 sin t( )2 + 4 cos t( )2 + 1

T := t → rt t( )

5

Tt := t → eval d eval T t( )( )( )( )
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x := t + 1

y := 2 t

z := 3 t

t → x, y, z[ ]

eq := 6 t + 1 = 1

0



n := 1, 2, 2[ ]

OO := 0, 0, 0[ ]

L := t → t n

x := t

y := 2 t

z := 3 t

eq := 11 t = 6
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